
Solving Quadratic Equations with Factoring - Example 4

Example: Find the Roots of:
x2 + 6x + 9

Recall: The roots (also called zeroes) are the values of x so that:
x2 + 6x + 9 = 0

We want to know when this is 0:
(x + 3) · (x + 3) = 0

By the Zero-Product Property either: (x + 3) = 0 OR (x + 3) = 0
Solving each of these equations, we get: x = −3 OR −3
Conclusion: The roots to x2 + 6x + 9 are: x = −3, −3
Here we have just one distinct root, -3, but it shows up in both factors.
To capture this, we say that -3 is a roots to x2 + 6x + 9 of multiplicity 2

http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Zero-Product_Property.pdf
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